HFAMEERSE F165 (1987)

PESRBICHITIRITHIETEBREETIE
(BEBFN60SE )

Hep R

ERETIE, BAS2ENSHREZ FHAETEBOEELZTET 010, F 2 MLBEHEOHHE
%%%ﬁé%mbtétoé@h%ﬂ%ﬁg(%%)%E#6\%%®%§%E®@t§ﬁ%ﬂi
BICOWCOMERVAEET > 1o, EETEIELRCATERZOFMIZEICHESINTNDD
T, LT, BHABNGEOBEMEBTRE ZNIHIE LIz K27 A DRESEE L DT,
BFHAE FEBICBEOEFROALDSEICH LI,

AE AHF X

PEFEEE 1 RICRT .

g1k #A & F &

B f1 60 &£

#A & W R | HEA604E 6 A10~20H
#F A OB OB | ENETHEE
H oA N g F| A
H OB A H|S
#H K I B |59 PER 2 7 i A T F EEEHEITRE
A OEHEOF B |EANEECXHEERY

mEB. AREIISBOIKERYE, BRRArSM U, BREEHTEICHET 2 HEMEHR
0 AT KPEHI M E & B B0 OIS > TiT o 12,

BRoOME

RETFHADETHEMEBTLEEZE 1 KICRT .
CNFEORERDICHK-TIE, TROAHESZIISINI N,

L Bl L O

B THA

fempan 4 30
AH |

—% w

\——ﬂ%hﬂmﬁ (A :EBD, 2L 7%=z y MIPE)

—113—



Aok MR, f48, Tal &ns
— A SRR

ERER T A H A

X PEERRCIHELIC,

& £ x M
D B3 - fth (1987) :hx7r A ETEMEKRERE ] FAEERERSE, 16

—114—



F1X AEFI60FE T HMETEITR

M| % i3 i = E E | T [ £FE| NN [ RER
Bz : 5
BANl, g s 9 10 11 12 1 2 3 4 5 R L
L aml ¢l % %
wla l N '; 6.1(29.0/ 3.6 4
2 L] L] 6.1]28.5] 1.9 6
g ! ; ]; 6.229.0| 0.7 4
2 L] ) 6.8|36.5 1.2 0
c ; 0 (5L }?_SL 6.6|35.5 1.4 2
" - i ‘—1—\_| 6.4(33.5 0.7 2
p ! o0 ;01 hos | 6.7]40.00 0 2
2 195 6.8(39.5| 0.5 0
g 1 1w | 2 | A | 6.7(40.5 0 2
2 ﬁ——_s%“ﬂi Lot 6.943.0 o 0
1 17} 150164 6.6/39.5| 0 2
THE i“_[ x [ — 6.1/24.5[ 0 0
|l ! a8 A0}, 6.9 44| 0.8 0
2 15] — &5 6.6 37| 0.6 2
g ! ol 6] Al 6.4| 38/ o 0
2 mEENE L&l 6.4/36.5| 0.5 0
c ! a0 | [;1 Ao 7.0(45.0] 3.7 0
2 L I Am‘u 7.1)44.5| 2.1 0
1 106 6.8[41.0 0 0
Dy, N N 13 6.9]43.0] 0.9 0
15 h
5 o o] g N R
Fy E—dw Alies) 7.1]48.0] 1.2 4
Wligla ' o [50] = -Afi65] 6.8(42.5| 4.8 6
2 léb] Yo} 7.2[42.5| 2.0 2
g ! o . e 7.1/50.0| 3.5 12
2 8 7.0|44.5] 0 0
mle ! E@ —Alng— 7.4|57.5| 1.7 0
2 6.1(27.5] 0 0
p ! I 6.9144,5| 0.3 2
2 6.2(28.5{ 0 0
g 1 " | 6.431.0| 0.3 2
2 _ o4 6.6[37.9] 0 2
v | ; 1 Ao 7.4(52.5| 2.4 2
BIM A 1 1 8.0(60.5/ 0 0
g ! [12] Aso- 7.1|48.0| 0.4 0
2 l12g s} 6.9139.0| 2.2 0
o ! 2025 b 7.2|47.5| 3.4 0
2 10 15 7.349.0] 0 0
b L s 16 6.8(41.0) 0.9 2
2 1 5 o 7.4]46.0] 0 0
mle ! m_o (18] — Al l 6.9|42.5| 3.4 0
2 _F{E 6.736.5| 0 0
sla ! hook—15— Al 7.1(43.0) 0 4
2 [1od Ty — » 7.1041.0] 1.7 0
% g ! 50 2215 Dlyzs 7.4152.5| 1.4 6
2| Mrznem x {15} 7.1(39.0] 0 0
1 [20]} [15] —fodf 8.1/68.5/ 3.9| 12
c 2 e —s} 6.3,28.0| 0.6 0
i} 3 [s0}15] 176 8.8/81.0) 0 0
1 [20] [12] 159 7.2|48.5] 0.6 2.0
A, [ }——foo—{ T5} : — 7.1/38.5] 0 2
g ! E 2 Alo— 8.0|57.5| 0.8 0
2 [% 6.9 [41.0| 2.4 0
glc ! [}—1s}- Abd- 7.1(42.5] 1.0 0
2 5015 {15} 7.3[46.5] 0 2






